xRk BR.LER

TRXEMGLICET &R

ZRAE(RIER #h D FRIR)

BARZR D& AERthDRRE

B T & 5 209BN5750-2

5] il £ EEB

il £ i —EmTFEERFESE

i OFE O HEAEFRERLEREBEAS —BEtAREL2—

A=
Jmhé;ﬂfz ¢
Xﬁ'm ;

£/l >
7’/@ AT

;*aém%u‘ Frie Jf

e \ :1L./n_¢.“ (
»mrmm \ !

FRZU o

1:200,000
- T YT

#EJE,RH(S 1:200 ooo)

(= 1 #th BB 0D B F H#h H2 12000000 — B8 | K UV Fith f2 X 250000 F EERT &6 FREEALER. ;&R I, %188

& X(S=1:25,000)

T



REMBOBRKRXERASE

HRS—1 BEDEINOHILI. ELLEENSTNADHILHORER _ . T 20234/
= 15 & A _209BN5750-2 | @R ZEDB | Pt T g TR
T ~ il G \ ] //
= A
P Y\w\a\\:\‘: H &UI P\) . ‘/Y\ \ A
A o k) — :\ 3
PRI S “ \K / |
11300 % 4 ;"I
\\\ %
\\\ ‘ ﬂ |
IEINE )it .
1443 1) /// W \t"f _
L\ /A {465 A X
} / - "'\;,‘v 6
L] i} 135.3// ',‘////
et RC"
—
o= I
STy (=

)\\‘7/0 | E/
- o\ 1901 -.

BT AR BEDEZTNOHL LD TREDBHICELDHH100kN/ M%E B2 5 HE
[ ELLEEDEETIADH LI ORI [ TEF0#EsENmEBRASHH

EFE



SEMMOBEREFAZ
BENETNOHDTHDRER _ HEETE
209BN5750-2 | B4 G HER RS il %/E@HT/%EE%;%E

#HHA3—1 BEDEZTIOHZ LM, ELL 20234/

2 B0 B BrEs

138.2

A\

/K\U\

I ey —

=
0 20 40m
1/1,000
b AL e

HEBTRIER

BEODEZTNDOHS LD XS
[ ELLWBEEOETAOHZ LORE

:I:E%O)’F%EJJ( &5 HH100kN/ Mz iR % H &

[ TaFoH#EENmEBEALEHHA

EFE



SEMMhORIERIERE
RS2 BEYICHERATSEEESNIHEICET HEIEI/1) RAEEE 20239F )%
T ERRRORE | Emae 209BNG 7502 B3 | T [ e i Bl g 72
- SER O TIHICHEET 51 i SfERHA
ol IREOBHDBEENDRES TREOHEBSENDAEE IREOBHOBEENDAES IREDEMBIEADAEE
= = T= AN i 7 T AN | = = = AN = T AN = =
| | 0oavmiz#Ex S - =~ = —|amrBza| — ~ —| - —[too/miEBRE| —| — ~ — —|amrza| — ~ —| - —
zh s 1.00| 000 ~ 475 5921 | Zn st | 000 ~ 0.00| 1.67 8.46 zh s 1.00] 500 ~ 5.00 5921 | Zn A4t | 500 ~ 500 | 1.67 8.46
, | 100N/miEER S - =~ = —[amrBza| — ~ —| - —[took/mizBR S| —| — ~ — —|amrBza| — ~ —| - —
zh s 1.00| 000 ~ 591 7402 | ZHLUS | 000 ~ 591 | 1.93 9.76 zh s 1.00] 500 ~ 7.20 7402 | ZHLLSr | 500 ~ 720 1.93 9.76
, | 100K/miEER S - =~ = —[amrBza| — ~ —| - —[took/mizBR S| —| — ~ — —|amrBza| — ~ —| - —
zh s 1.00| 000 ~ 642 80.77 | #nLlust | 000 ~ 0.00| 1.65 8.32 zh s 1.00] 500 ~ 7.80 80.77 | #nLlust | 500 ~ 7.80| 1.65 8.32
4 | 100K/TiEER S - =~ = —[amrBza| — ~ —| - —[took/mizBR S| —| — ~ — —|amrBza| — ~ —| - —
zh st 1.00 | 0.00 ~ 558 69.71 | ZhLlus | 000 ~ 558 | 1.79 9.06 zh s 1.00] 500 ~ 6.20 69.71 | ZHLlUst | 500 ~ 6.20 | 1.79 9.06
5 | 100/miEER - =~ = —[amrBza| — ~ —| - —[took/mizBR S| —| — ~ — —|amrBza| — ~ —| - —
zh st 1.00| 000 ~ 7.00 88.74 | #nLlust | 000 ~ 7.00| 1.83 9.23 zh s 1.00] 500 ~ 8.80 88.74 | #nLlust | 500 ~ 8.80 | 1.83 9.23
6 100kN/ m##8 %% 1.00| 000 ~ 185 128.50 |3mZEi#BZ 5 - ~ — — —| 100kN/m%#8%%| 1.00 (1054 ~ 17.16 128.50 |3mZEi#BZ 5 -~ - — —
zh s 1.00| 1.85 ~ 9.64 100.00 | ZHLA4+ | 0.00 ~ 9.64 | 2.40 1212 zh s 1.00] 500 ~ 10.54 100.00 | ZHLA4 | 500 ~ 17.16 | 2.40 1212
7 100kN/ m##8 %% 1.00 | 0.00 ~ 227 135.35 [3mZEEZ 5 - ~ — — —| 100kN/m%#8% 5| 1.00 [11.28 ~ 2045 135.35 [3m%EEZ 5 -~ - — —
zh s 1.00 | 227 ~ 10.06 100.00 | ZHLLA4+ | 0.00 ~ 10.06 | 2.96 14.97 zh s 1.00] 500 ~ 11.28 100.00 | ZHLLA4 | 500 ~ 2045 | 2.96 14.97
100N/ Mz % 5 ~ mEBZS ~ 100N/ MZ % 5 ~ mEBZS ~
Zhpst ~ ZhBlsh ~ Zhps ~ ZhBlsh ~
100N/ Mz % 5 ~ mEBZS ~ 100N/ MZ % 5 ~ mEBZS ~
Zhps ~ ZhBlsh ~ Zhps ~ ZhBlsh ~
100N/ Mz % 5 ~ mEBZS ~ 100N/ MZ % 5 ~ mEBZS ~
Zhps ~ ZhBlsh ~ Zhps ~ ZhBlsh ~
100N/ Mz % 5 ~ mEBZS ~ 100N/ MZ % 5 ~ mEBZS ~
Zhps ~ ZhBlsh ~ Zhps ~ ZhBlsh ~
100N/ Mz % 5 ~ mEBZS ~ 100N/ MZ % 5 ~ mEBZS ~
Zhps ~ ZhBlsh ~ Zhps ~ ZhBlsh ~
100N/ Mz % 5 ~ mEBZS ~ 100N/ MZ % 5 ~ mEBZS ~
Zhps ~ ZhBlsh ~ Zhps ~ ZhBlsh ~
100N/ MZ % 5 ~ mEBZS ~ 100N/ MZ % 5 ~ mEBZS ~
Zhus ~ ZhBlsh ~ Zhus ~ ZhBlsh ~
100N/ MZ % % ~ mEBZS ~ 100N/ MZ % 5 ~ mEBZS ~
Zhpsh ~ Zh B ~ Zhpsh ~ Zh B ~

D
H
f



